(RN
<

a(6 @) (rad)

i

TP n (PCA to beamline)

i
T T
<
PR E——
- — .

T .
= E
P

———

—

& 5
g :
elo—l:_ .................................... ..
B E j
: |
102 :
10’35— """
.910—4_. | ...!....
& asp-{fik i |
-t e
-3 -2 -1 0 1 2 3

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom

aoa, ) (cm)

107

1072

] iim'm" 11T
-3 -2 -1 0 1 2
TP n (PCA to beamline)

2 3
TP n (PCA to beamline)

TP n (PCA to beamline)



	Contents
	Page 1


